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Please make sure that the printed pages in this
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25(11+7+7) questions.
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Before beginning to answer a question, its Serial
Number must be written.
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o FTT-gikTEr # &5 7 Gl o/ 91 T Sig)

Don’t leave blank page/pages in your answer-book.

o FTT-gRaE F SaRF FE o dfe T Al o
STEPTEAGEr & i@ v frar gav 7 @12

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o GRS ST T To FIT-UF ¢ 79T [r@)
Candidates must write their Roll Number on the
question paper.

» U §97] F GV &7 @ §7 98 GrREd &Y o [F Je7-0E
g7 q @& & YO % Iy 34 FE § #HE A @
&I T [T TEm

Before answering the question, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

T[98 -
(i) T& F97-9F T 9 F i & -
9T — & : STTTHE] T 0T TEaTe @Il
T - § : B GI7 §F [T QR ET ey
9T - & : BLIHT AGH)

(i) T - 7 Sffard &1 qErE o7y seBT & 4T - §
T T - T 7 T FE F T ET F

(iii) TH F97 BT BN 81 HAF HIT B HF GGD WHT
TR T 8
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(iv) F97 @@ 1@ 6 d 12 @7 13 % 7 15 & 20

(v)

= § fod aer 97 g7 @ 10 714 @ 16
F AT 40 @ 50 =1 F @)

797 G&gr 11, 17 797 18 7 Sf=<ili% g 39
&l

General Instructions :

(9

(%)

(i)
()

(v)

This question paper is divided into three
Parts :

Part - A : Not for Profit Organizations &
Partnership Accounts.

Part - B : Company Accounts & Analysis of
Financial Statements.

Part — C : Computerized Accounting.

Part - A is compulsory. Candidates have
to attempt any one part from Part — B and
Part - C of their choice.

All questions are to be attempted. Marks of
each question are indicated against it.

Give answer Question Nos. 1 to 6 and 12 &
13 in 15 to 20 words and Question Nos. 7 to
10 and 14 to 16 in 40 to 50 words.

Internal choice is available in Question Nos.
11, 17 and 18.

AT - 3
PART - A
(STt HeEATE U EEEt @)

(Not for Profit Organizations & Partnership Accounts)
1. STCTERTd €l § oY & &9eid & ¢ 1

What do you mean by Not for Profit Organization ?

4308/(Set : D) P.T.O.
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2. HERRI % ‘A @ ;M8 7 1

What are partners' 'Current Accounts' ?

3. W, TV, WART AN B 3:2:1:4 % Jua A
fefod #Xd g0 ©F wH § ERRR B T W W wH 4@
AT Bid & a7 S AT & foed @ ‘o7 dem T A
M S H & form
‘O T T & T AW I B TOET i 1
'A', 'B', 'C' and 'D' are partners in a firm. Their
profit sharing ratiowas 3 : 2 : 1 : 4. 'B' and 'C
decide to retire from the firm. Their share of
profits are taken-over by 'A' and 'D' equally.

Calculate new profit sharing ratio of 'A" and 'D'.

4. ST & g B TOFNFA B Teiwer by @& aoi
I 1

Describe the 'capitalization method" to calculate
the value of goodwill.

5. Wi YU g 1 g HiE 0% A= faw 1

Give any one difference between Gaining Ratio
and Sacrificing Ratio.

6. TEE BH & g § 1 oY § 7 1
What is meant by dissolution of partnership
firm ?
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7. 31 HE, 2018 & GG a9 H U & P @l 36
TR ©
o 4 T 4
Y AR A>T T 1,30,000 | fwmm (Ram 11
T T &) | 88,000
2016-17 15,000 Elc| 1,500
2017-18 2,70,000 EE| 1,32,000
2018-19 5,000 | 2,90,000 | R GIE 30,000
STSia Feerdl & 12,500 | Y M & ST T | 1,95,000
fafr 9 =g 14,000
4,46,500 4,46,500
Fr=1 gerell @ &M § t@d g 31 M, 2018 &

T q¥ @ TF-49 Al JaR P

@)
(i)

e 31 1€, 2018 & 7,000 T |
(iii) ST UH a9 ® o 1 SE, 2018 H A Tm
Following is the Receipts.and Payments Account
for the year ended 31st March; 2018 :

4

31 T/, 2018 & 28,000 T TwaT THMET |
31 AW, 2017 @ ©IEA & ©F 2,500 T 4

Receipts 4 Payments <
To Balance B/d 1,30,000 | By Rent (paid for
To Subscriptions : 11 months) 88,000
2016-17 15,000 By Insurance 1,500
2017-18 2,70,000 By Salaries 1,32,000
2018-19 5,000 | 2,90,000 | By Stationery
To Life time member's purchased 30,000
fees 12,500 | By Balance C/d 1,95,000
To Interest on
Investment 14,000
4,46,500 4,46,500
4308/(Set : D) P.T.O.
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Prepare Income and Expenditure Account
for the year ended 31st March, 2018 after
considering the following informations :

(i) Subscriptions in arrear on 31st March,
2018 was X 28,000.

(ii) Stock of stationery on 31st March, 2017
was ¥ 2,500 and on 31st March, 2018 was
% 7,000.

(iii) Insurance was paid on 1st January 2018 to
run for one year.

8. TH AR WM 3 : 2 % FJI & O ded g Th B
HERR &1 el dae 7 e e R

M ® 30,000 T G aep fam SRRM qen @i
N da9 1,000 T Ui A€ B

U TEgl-Hl TR A AT e @ s
Y forn T m

ST - FHEING fafte e 4

Ram and Rahim are partners in a firm sharing
profits in the ratio of 3 : 2. The partnership deed
provided for the following :

¥ 30,000 per annum salary to Ram and
salary ¥ 1,000 per month to Rahim.

The profit was divided without providing for
the above.

Pass necessary Adjustment Entry.

4308/(Set : D)
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9. O, ¥ANW2:2:1% U § q¥ dfed gL H
BH § HEER g1 31 A, 2018 & ‘ST & TG & IRl
Bl U% 99 & 31 RE=X @ g% R o« g ad
2017 % f¥H 6,00,000 T B q&O0 1 S9ad, 2018 @
31 9E, 2018 T& f¥=hl 2,00,000 % 31 ¥ 2017 &
&9 30,000 % &I
Il 9 & A H gk EHER & AN H TOFT Bl 4
'A', 'B' and 'C' are partners in a firm sharing
profits in the ratio of 2 : 2 : 1. 'A' dies on 31st
March, 2018. Accounts are closed on 3lst
December every year. Sales for the year 2017
amounted ¥ 6,00,000 and sales from 1st
January, 2018 to 31st March, 2018 amounted X
2,00,000. The profit for the year 2017 amounted
% 30,000.

Calculate the deceased partner's share in
the current year profits.

10. “THR’ O ‘R’ 3 : 2 % IYUE H AT died 5 Th BH
¥ @EE 311 9P, 2018 & BH @ g § fre
T T R
() |RE @ g 3,00,000
(i) ORI B 5% "IN & & PFRE 4,750
(iii) "W =T 10,000 2|
(ivy $ : ‘=R @ 1,50,000 T AR ‘AR &

1,25,000 |
(v) &% FT 5,000 3
(vi) @H-8iiF (Sfde) 2,500 R
SRS Gl | agal Gl JaR S 4
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X' and 'Y' are partners in a firm sharing profits
in the ratio of 3 : 2. The book of the firm
provides the following informations on 1st April
2018:

(i) Assets realized X 3,00,000.

(ii) Creditors were paid ¥ 4,750 after deducting
5%.

(iii General Reserve ¥ 10,000.

(iv) Capital : 'X'¥ 1,50,000 and 'Y's ¥ 1,25,000.
(v) Bank Loan ¥ 5,000.

(vij P&LA/c(Dr.) % 2,500.

Prepare Realisation Account from the above
informations.

‘TR, ‘A’ SR Ve U GH A 5 : 3 : 2 % g
M dled 8¢ WERR-SL 31 REWR, 2017 & ‘Fe’ wH
T AR T Bl 81 STAHI TS HH P AT A

’

H . R fIavT 36 R oo

FHIT 7 T 7
ATER 12,500 | §% 16,000
Jenfves T IR 4,000
% T ST | 11,500 | 92/ SENH (-)100 | 3,900
T we 4,200
‘T’ 25,400 e 17,500
‘9’ 18,000 CRICICER] 40,000
‘¥’ 14,200 | 57,600

81,600 81,600

4308/(Set : D)
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‘e’ % A W ol ga ¢
() 9H a9 @ 5% § ST & T FHER I8
20% B T 28

() FON W FENH 5% T I & U Jeq¥D
FRE F 12,000 ¥ TF T 2

(iii) %9 @ T B GedidT 12,000 I ik T

IR W, WERR & Yo @ g @i
Regfer feReT TR S 8
X', 'Y' and 'Z' were partners in a firm sharing
profits in the ratio of 5 : 3 : 2. On 3lst
December, 2017 'Z' retired from the firm. On the
date of retirement the Balance Sheet of the firm
was as follows :

Liabilities 4 Assets T
Creditors 12,500 | Bank 16,000
Provision for Debtors 4,000
legal claims 11,500 | Less : Provision ()100 3,900
Capital : Stock 4,200

X' 25,400 Furniture 17,500
Y 18,000 Land & Building 40,000
'Z' 14,200 | 57,600

81,600 81,600

On 'Z's retirement it was agreed :

(i) Land & Building will be appreciated by 5%
and furniture will be depreciated by 20%.

(i) Provision on Debtors will be made at 5% on

Debtors and provision for Legal Claims will
be made ¥ 12,000.

4308/(Set : D) P.T.O.
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(iii) Goodwill of the firm was valued at ¥ 12,000.

Prepare Revaluation Account, Partners'
Capital Account and Revised Balance Sheet.

Fgar

OR
WM U AR AN STU | o9 1 e § ! 3
aﬁﬁww%? 2, 2,4

What do you mean by Sacrificing Ratio and
Gaining Ratio ? What is the difference between
two ?

qT - 9
PART - B
(et @a e ol fFaRet @ s

(Company Accounts & Analysis of Financial Statements)

12,

13.

14.

ferig fereRor fasciyer & ‘oo’ | o9 o wWEQ & 7 1

What do you mean by 'tools' of Analysis of
Financial Statement ?

ety fereent & fasrer 1 g @ & R 1

Explain any two limitations of Analysis of
Financial Statement.

TR A 3 ¢ 1 2 qU A FIAW 2 ¢ 1 81 AR A
WHWWWWMOOO?%ﬁ

I, TRl SiR A AR O i 4
Current Ratio is 3 : 1 and Liquid Ratiois 2 : 1. If
the excess of current assets over liquid assets
are ¥ 24,000, then calculate Current Assets &
Current Liabilities.

4308/(Set : D)
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16.
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ARE Jare faaver & el gre @l & aUie i 4

Mention any four merits of Cash Flow

Statement.

I e e e M 9eM el ®

1-4-2017 | 31-3-2018

qiel ST e (W.D.V.) | 35,000 | 35,000 %

q¥ & A UF A e a9 25,000 I
off ofix fewr dfed & @ 15,000 % 8, & 13,000 % #
a9 @ W AR ¥ H FE 25,000 % B

S el ¥ Fau Bhaeadl § ks YaE @l
O it 4

Rama Print Limited provides the following

information :

1-4-2017 31-3-2018

Machinery (W.D.V) % 35,000 % 35,000

During the year, a machine costing *
25,000 & accumulated depreciation on it was X
15,000, was sold for ¥ 13,000 current year
depreciation is ¥ 25,000.

From the above informations prepare Cash

Flow Statement from investing activities.

4308/(Set : D) P.T.O.
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17. 0 fd®ds 4 100 ¥ &% & 20,000 S & 10 T
gl e diftrm w® Frifa e il 39 ssR 3 R

HEET W 25 3; e W 35 X (Al |fed) g
Y RN FoH g HAfwH e [

gl Sfdl B AREN T g R HEEI 3 a
3 R, 200 Sfslf W aMEed oiR Wi A & StfaiE
oI B I ST H T HY R T AR 80 3 UIE
% qoied S § gATRE e mm

T B GEH A TEEE Ao dfaftedt
EIE I 8
'B' Limited offers 20,000 shares of ¥ 100 each at
premium of ¥ 10 per share to the public. The
amount is payable as follows :

On Application ¥ 25; On Allotment ¥ 35
(including premium) and rest on First & Final
Call.

All shares are subscribed. Company
received all money except allotment and first &
final call money on 200 shares. These" shares
were forfeited and re-issued fully paid up at I 80
each.

Pass necessary Journal Entries in the
books of the company.

YAl

OR
(37) pram AT qEn SIRM g (ST W) @ i
TGl H O BT qoT 379 G AT

gfefeat o fafam 4
(@) it &1 oI W e @ wEtEd @& aEee
%?Wzﬁliﬁm 4
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Mention the provisions and also give
journal entries relating call in arrear and
call in advance.

What are the provision regarding issue of
shares at premium ? Explain.

18. ﬁwaanaﬁﬁmﬁ%%‘m%wmzﬁﬁuzs

@

(i)

(ii)

(i)

15,000, 12% FO95 &% 10 T &l
ﬁﬂ‘rﬁﬁﬁm%iﬁﬂzﬁraﬁaﬁ%mﬁwwﬁm
ST

20,000, 7% O T&% 50 I H THEET W
Frifg g @, e sied q9ge W e
ST

12,500, 8% 9 Y% 10 T A 3% MfEq W
frifa e o, = stes 2% diftmm @ e
ST

4,000, 9% U9 Jd% 100 T & 4% el W
it fre o, R sttes 6% Siftmm. ox fean
ST

Pass journal entries at the time of issue of
Debentures in the following cases :

@)

(i)

(i)

4308/(Set :

Issued 15,000, 12% debentures of ¥ 10
each at par, redeemable at a premium of
5%.

Issued 20,000, 7% debentures of ¥ 50 each
at par and redeemable at par.

Issued 12,500, 8% debentures of ¥ 10 each
at a premium of 3% and redeemable at a
premium of 2%.

D) P.T.O.
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(iv) Issued 4,000, 9% debentures of ¥ 100 each
at 4% discount and redeemable at a
premium of 6%.

CRC|

OR
(31) e & iR Ufied W FO@E & R @
SRE R 4
(@) o IR T & d= R [ 4

(a) Explain the issue of debentures other than
cash consideration.

(b) Write difference between share and
debenture.

AT -9
PART - C
(Peliepa wEiw)

(Computerized Accounting)

12. FHYG AQiHT IUTell B His 0% Qv fafgy 1

Write any one feature of Computerized

Accounting System.

13. ‘SIINE FT%Y Y AT 1 g9 § 7 1
What do you mean by 'Database Interface' ?

4308/(Set : D)
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15.

16.

17.

(15) 4308/(Set : D)

FYTNGA AGHT IO B GO AT T Bl
Ve g &7 A R 4

Give any four advantages of Computerized

Accounting System over Manual Accounting
System.

‘GUI (Mfthdt ToR 3X%d) W T SR fewel fafw) 4

Write a short note on 'GUI (Graphical User
Interface)'.

ey TS Ul & SYART o & 7 4

What are the uses of Database Management
System ?

(i) foste, qun (i) feoiea o M & W & gk @
U T 8

Describe .the procedure. for creating Form
(i) wizard, and (ii) design view.

YT

OR
festg o fofyr @ T wo-TE # BA® FQ B AR
IO 1 O T 8

Describe various steps the design view method
to create a Query in MS-Access.

4308/(Set : D) P.T.O.
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18. 1 # SR FIfvTT :

(31) T@g® T Tl
(@) &« Rwid 9 g Red

Differentiate between the following :

(a) Workbook and Worksheet.

(b) Cell reference and Circular reference.
AYAT
OR

=t ox e fewdl ferfer

(&1) ot Sedie Fi v

(@) st Besiie & I

Write short notes on the following :
(a). Features of Electronic Spreadsheet.

(b)  Applications of Electronic Spreadsheet.

4308/(Set : D)
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o FTT-gikTEr # &5 7 Gl o/ 91 T Sig)

Don’t leave blank page/pages in your answer-book.

o FTT-gRaE F SaRF FE o dfe T Al o
STEPTEAGEr & i@ v frar gav 7 @12

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o GRS ST T To FIT-UF ¢ 79T [r@)
Candidates must write their Roll Number on the
question paper.

» U §97] F GV &7 @ §7 98 GrREd &Y o [F Je7-0E
g7 q @& & YO % Iy 34 FE § #HE A @
&I T [T TEm

Before answering the question, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

T[98 -
(i) T& F97-9F T 9 F e & -
9T — & : STTTHE] T 0T TEaTe @Il
T - § : B GI7 §F [T QR ET ey
9T - & : BLIHT AGH)

(i) T - 7 Sffard &1 qErE o7y seBT & 4T - §
T T - T 7 T FE F T ET F

(iii) TH F97 BT BN 81 HAF HIT B HF GGD WHT
TR T 8
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(iv) F97 @@ 1@ 6 d 12 @7 13 % 7 15 & 20
=t 7 fod qor 597 ger 7 @ 10 714 @ 16
H TV 40 @50 g7 F fg)

(v) 797 G&gr 11, 17 77 18 ¥ off<ii% 8¢ FYoree]
&1
General Instructions :
(i) This question paper is divided into three
Parts :
Part - A : Not for Profit Organizations &
Partnership Accounts.

Part - B : Company Accounts & Analysis of
Financial Statements.
Part — C : Computerized Accounting.

(ii) Part — A is compulsory. Candidates have
to attempt any one part from Part — B and
Part - C of their choice.

(iii) All questions are to be attempted. Marks of
each question are indicated against it.

(iv) Give answer Question Nos. 1 to 6 and 12 &
13 in 15 to 20 words and Question Nos. 7 to
10 and 14 to 16 in 40 to SO words.

(v) Internal choice is available in Question Nos.
11, 17 and 18.

T - A
PART - A
(STt HeEATE U EEEt @)
(Not for Profit Organizations & Partnership Accounts)
1. qHIETA & SR o< TR & qus B 1

Describe the amount received under Legacy.
4308/(Set : A) P.T.O.
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2. HEER ad H qRwNg S| 1

Define Partnership Deed.

3. W AR AR 2 : 1 B oI & To-&IW dfed gL Th
w9 ¥ 9ERER 2 SN e § W SR Hed @ A

%a% ART % T 47 AEER a9

T 9 YU I HIoT 1

Rajat and Rohit are partners in a firm sharing
profits and losses in the ratio of 2 : 1. They

admit Ram and Mohan as new partners for %th

and %th share in profits respectively.

Calculate their new profit sharing ratio.

4. i & GRHMYT i 1
Define Goodwill.

5. Ul & 3 SaRY 9 @ o oTgu @R fREr S
T &I 1

Give two circumstances in which gaining ratio
may be applied.

6. T Tl %l GRAMN HIT) 1
Define Realisation Account.

4308/(Set : A)
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7. 31 A€, 2018 & GG A & fo oM a0 & i a
IO G 39 TR 8
T ¢ AT 4

SERCIHESIRIRR 2,60,000 | fmEr (Rar 11

T (% 10,000 o &) 1,76,000

2018-19) | 5,80,000 | = 3,000

Aol TR F | 25,000 | 99 2,64,000

fafarT ® == (7% LSS URERIG| 60,000

gfced & & & Y S & S || 3,90,000

a & 28,000
8,93,000 8,93,000

31 9, 2018 H T &N I a9 H AF-FF Gl

=T gamelt &1 & | TEd g (AR Hig

(i) 31 A, 2017 F = & WA 30,000 T FHAT A
3R 31 T, 2018 & 48,000 T FHAT i

(i)

3iX 31 91, 2018 & 14,000 % |
(iii) SHT 1 T9a9, 2018 & TH I¥ B o€ fgr m@m

Following is the Receipts and Payments Account
of Citizen Club for the year ended 31st March,

4

31 AW, 2017 H ©IEA & €F 5,000 T 4

2018 :
Receipts ¢ Payments 4
To Balance B/d 2,60,000 | By Rent (paid for
To Subscriptions 11 months) | 1,76,000
(including % 10,000 By Insurance 3,000
for 2018-19) | 5,80,000 | By Salaries 2,64,000
To Life time By Stationery
membership Fee 25,000 purchased 60,000
To Interest on By Balance C/d 3,90,000
Investment (7%
p-a. for full year) 28,000
8,93,000 8,93,000
4308/(Set : A) P.T.O.
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Prepare Income and Expenditure Account for the
year ending 31st March, 2018 after considering
the following informations :

(i) Subscriptions in arrear on 31st March,

2017 were ¥ 30,000 and on 31st March,
2018 were ¥ 48,000.

(ii) Stock of stationery on 31st March, 2017
was ¥ 5,000 and on 31st March, 2018 was
% 14,000.

(iii) Insurance was paid on January 2018 to
run for one year.

8. T X N s w4 § URER 3 WEEN Q@ &
AR 4
() 27,000 X T A9 P GE qeq q4T 27,000

q e # 2.:.3 & U | e
(i) ‘@ 5,000 % At Iq9 9= H SAAER & S S’
HHI. G T B AT HIH &GS JBF A9 H2%
FHIIE U H ARBR 21 a9 9 FHIE geN «
qd a¥ & @ 37,844 X B
A H TedRT BN JAT AN T e fafEm
QT SR
'A' and 'B' are partners in a firm. According to
their partnership deed :

(i) Profit up to ¥ 27,000 are divided equally
and excess of ¥ 27,000 are divided in the
Ratio of 2 : 3.

4308/(Set : A)
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(ii) 'A'1is entitled to get annual salaries ¥ 5,000
and 'B' is entitled to get 2% commission on
net profit after charging such commission
and A's salary. Profit for the year was
337,844 Dbefore charging salary and
commission.

Distribute the profit and prepare profit and
loss appropriation account.

9. M, gbe, I A AT 2 : 2 : 1 : 1 F U« A
-2 dfed gY UH BH 7 e g1 W ok a3
tﬁﬁ@fW&Tmaﬂﬁwﬁﬁqmwﬁzﬁ@rﬁaﬂ
i 90,000 I fHAT TN G g AN wiew |
-2 ST 5 : 3 H are

EMJ-FTeR & [ STEaEed Aomer e Hivie 4

Ravi, Mukesh, Naresh and Yogesh are partners
in a firm sharing profits and losses in the ratio
of 2:2:1:1. Ravi and Naresh decided to retire
from the firm. The goodwill of the firm was
valued at ¥ 90,000. Mukesh and Yogesh decided
to share future profits & losses in the ratio of
S : 3.

Pass necessary Journal Entry for the treatment
of goodwill.

10. T FR A 2 : 1 B U F AH-TW Sed W TH
B ¥ WEER B 3 ®F & faged (@) 0 & o
qeud g - Rl | 999 8¢ 2,50,000 R
SEGE 3 9K © ¢ 9eR 1,50,000 3; 9% HT

70,000 %; T T 40,000 % X AU 35,000 %;
ABS 3,000 3]

T B gEH H g G R i 4

4308/(Set : A) P.T.O.
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'‘A' and 'B' are partners in a firm sharing profits
and losses in the ratio of 2 : 1. They decided to
dissolve their firm. The assets realized of
¥ 2,50,000.

Liabilities of the firm were : Sundry creditors
¥1,50,000; Bank Loan ¥ 70,000; Capital A's
340,000 and B's ¥ 35,000; cash in hand ¥ 3,000.

Prepare a Realization Account in the books
of the firm.

T AW 5 ;3B U F Aw-a Sed 5T

B ¥ @R ¥ 31 U, 2018 & BH @ Refy faawer

9 TR o1 ¢

IR 4 aHar 4

Tl - e g 79l | 40,000

M 30,000 % i 30,000

I 20,0002 | 50,000 | IR 20,000

KRR 15,000 | gr<r o= 10,000

o Tty 42,500 | ¥ 99 7,500
1,07,500 1,07,500

ﬁ%ﬁﬁ%ﬂﬂ%%ﬂ‘ﬁﬁﬁﬂﬁﬂﬂlﬂ%

40,000 % Tt & &9 § g 4,000 3 @AM & ST &
w0 qEn [ g W e g AT @ g 10%
EM T SRR W 5% & & q HAENE 99 W

TEwd gl
IR W, AEER & geil @ ok wH A
T Refer feer qar i 8

4308/(Set : A)
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Ram and Ravi are partners in a firm sharing
profits and losses in the ratio of S : 3. The
position of the firm as on 31st March, 2018 was

as follows :
Liabilities 7 Assets 7
Capital A/c :— Plant &
Machinery 40,000
Ram % 30,000 Stock 30,000

Ravi T 20,000 50,000 | Sundry Debtors 20,000

Sundry creditors 15,000 | Bill Receivable 10,000
Bank overdraft 42,500 | Cash at Bank 7,500
1,07,500 1,07,500

Mohan now joins on condition that he will share
% of the future profits. He introduced ¥ 40,000

by way of capital and further ¥ 4,000 by way of
premium for goodwill. Ram and Ravi agree to
appreciate plant and machinery by 10% and to
raise a reserve against sundry debtors @ 5%.

You are required to prepare Revaluation
Account, Partners' Capital Accounts and New
Balance Sheet of firm.

4308/(Set : A) P.T.O.
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S{YEr

OR
Teh HEER &l g W Iqb B & 4l &l T B
% faftr faftmt @1 Sarever afed v #ifs 8

Explain with example various methods of
computing the share of profits in case of death of

a partner.
qT - §
PART - B
(ot @a e i faRet @ s

(Company Accounts & Analysis of Financial Statements)

12,

13.

14.

foria o & fasqwer @ 7ewr &1 Ui Sifsm 1

Explain the significance of Analysis of Financial
Statements.

foriier faaor. fasaser &1 FIE g% 3299 IR 1

Give any one objective of Financial Statements
Analysis.

‘TR a8 ST fHo’ @ FEdd TN F e & aut A
e o & &R o Rafq 71 ® :

g i : €% 5,60,000 3; TFRR 3,50,000 T3
A 70,000 3|

I A : IMER 4,90,000 3; & FT 2,00,000 3
TOT T ¢ (i) A STUM, T (i) AR oUa 4

4308/(Set : A)
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The working capital of 'XYZ Ltd.' deteriorated in
recent years and now as under :

Current Assets : Inventory ¥ 5,60,000; Debtors
¥ 3,50,000 and Cash ¥ 70,000.

Current Liabilities : Creditors ¥ 4,90,000;
Bank Loan % 2,00,000.
Compute : (i) Current Ratio, and (ii) Quick Ratio.

15. =T germ @ Hase Bearelt 8 g Uhs 5ae ®i
T I - 4

31-03-2017 | 31-03-2018

Jufaiad e W (WDV) | 6,00,000 Z| 7,50,000 %

(i 1,00,000 ¥ TR & AW, STER THEA &9
30,000 ¥ &, 60,000 T T =1 T

(i) 31-3-2018 F T a¥ § w9 T 50,000 3
B9 L 4T |

Calculate Net Cash Flows  from investing
activities from the following information :

31-03-2017 31-03-2018
Building (W.D.V.) | ¥6,00,000| % 7,50,000

Additional informations :

(i) Building costing ¥ 1,00,000 on which
% 30,000 accumulated on depreciation was
sold for ¥ 60,000.

(ii) Depreciation charged on building for the
year ended 31-3-2018 ¥ 50,000.

4308/(Set : A) P.T.O.
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16. %S YaTE [qaXoT & fhwel #7¢ SUAM @l U diedl 4

State any four uses of Cash Flow Statement.

17. T T 5 100 % 9 5,000 9T 3 H9A W
Frif fbm g TR &1 T 39 TR B

e 9T 25 ¥; ofeed ¥ 25 T; Usdl 9 3if~H
s X 50 3

U Sierdl, Rres | 300 a0 &, geel q SAfH
fepe a1 T b1 S TE fhaAT SEe S Bl ST A
form @ @ik 70 % ufv ofwr & REw A ¢ Frita &
few M

FOA B eI § oTasId e Sfaftedr S 8

A company makes an issue of 5,000 equity
shares of ¥ 100 each at par. The net amount is

payable as follows :

On application ¥ 25; On allotment ¥ 25 and
First & Final Call ¥ 50.

A shareholder holding 300 shares did not
pay first & final call money. His shares were

forfeited and re-issued at ¥ 70 per share.

Pass Necessary Journal Entries in the books of
company.

4308/(Set : A)
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YAl
OR
=1 @ fera feaelt fofe
(&) aif Pt
(@) ofst @ hfem W el
Write short notes on :
(a) Over Subscriptions.

(b) Issue of Shares at Premium.

18. ‘T s’ &l Y&l § 1 &FFCSN, 2017 & 1 W
TERid 9

2
12% T : 9,00,000
ffenT wug : 6,75,000
Rif wog fafEn (sifed 9@) +.7,65,000

fafsarT 9X =t 30 TR @ 31 9™ @ 8% i
W § e MR I I fohar S 2

giead 31 A & RifeT B9 & 1,50,000 3T H HEH
ERISIRIE

31 HrE, 2018 H FUGHA H PFAM 7 & T
FT A T wre fafsEe @ 90% W a9 # FOA
& Mg I Ran @ R’T % F 99 3,24,000 X
(FafarTt & =t o | gd) e

‘T fafHes’ @ ge § STEasEE @ (A il 8

4308/(Set : A) P.T.O.
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The following balance appeared in the books of
'A' Ltd. on 1st October, 2017 :

3
12% Debentures : 9,00,000
Sinking Fund 1 6,75,000

Sinking Fund Investments
(Face Value) : 7,65,000

Interest on investment is received on
September 30 and March 31 @ 8% per annum.

Annual contribution to the Sinking Fund
was ¥ 1,50,000 made on March 31 each year.

Debentures fell due for payment on
March 31, 2018. The company carried out the
redemption by the sale of Sinking Fund
Investments at 90%. On that date balance at
bank stood at ¥ 3,24,000 (before interest on
investment has received.)

Prepare necessary Ledger Accounts in the
books of 'A' Ltd.

YA

OR
FOET T U &RT SNEH § ST F ST 7 ?
T IEEX0 AHY S Tafedl s @ Hifom) 8

What do you mean by redemption of debentures
by conversion ? Explain with the help of Journal
Entries by taking an example.

4308/(Set : A)
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13.

14,

15.

16.

(15) 4308/(Set : A)

{1 -9
PART - C

(Fragele ui)

(Computerized Accounting)

greT AR @ 2 7 1

What is data processing ?

ST ATy R B ? 1

What is data validation ?

FYp i Tl & & 4
Explain features of Computerised Accounting
System.

STeTSd T Tl & 1 SR © 4

What do you mean by the concept of Database

Management System ?

‘HEETS FHSIT Yol TR it fewel fafaw 4

Write short note on 'Customized Accounting

Package'.

4308/(Set : A) P.T.O.
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17. R e &1 smasgs a1 [ 8
Explain essential of Reporting System.
HYqT
OR
‘TBde’ M & faf [l & av Sk 8

Explain the different methods of creating 'query'.

18. dWiHT ¥ Tedfie & A= st & R & aoig
i) 8

Explain in detail the different applications of
spreadsheet in Accounting.

ST
OR
Greslic @1 B 7 sae ke R 8

What is-Spreadsheet ? Give its features.

4308/(Set : A)
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° FWT T FW T fF 57 WT-TH T gRT 7T 16 T
J97 25(11+7+7) &
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o FTT-gikTEr # &5 7 Gl o/ 91 T Sig)

Don’t leave blank page/pages in your answer-book.

o FTT-gRaE F SaRF FE o dfe T Al o
STEPTEAGEr & i@ v frar gav 7 @12

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o GRS ST T To FIT-UF ¢ 79T [r@)
Candidates must write their Roll Number on the
question paper.

» U §97] F GV &7 @ §7 98 GrREd &Y o [F Je7-0E
g7 q @& & YO % Iy 34 FE § #HE A @
&I T [T TEm

Before answering the question, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

T[98 -
(i) T& F97-9F T 9 F i & -
9T — & : STTTHE] T 0T TEaTe @Il
T - § : B GI7 §F [T QR ET ey
9T - & : BLIHT AGH)

(i) T - 7 Sffard &1 qErE o7y seBT & 4T - §
T T - T 7 T FE F T ET F

(iii) TH F97 BT BN 81 HAF HIT B HF GGD WHT
TR T 8
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(iv) F97 @@ 1@ 6 F 12 @7 13 % 377 15 & 20
=] 7 g Tor 497 geqr 7 4 10 714 § 16
% JaT 40 & 50 = [

(v) 797 G&gr 11, 17 77 18 ¥ off<ii% 8¢ FYoree]
81

General Instructions :

(i) This question paper is divided into three
Parts :
Part - A : Not for Profit Organizations &

Partnership Accounts.

Part - B : Company Accounts & Analysis of
Financial Statements.

Part — C : Computerized Accounting.

(ii) Part — A is compulsory. Candidates have
to attempt any one part from Part — B and
Part - C of their choice.

(iii) All questions are to be attempted. Marks of
each question are indicated against it.

(iv) Give answer Question Nos. 1 to 6 and 12 &
13 in 15 to 20 words and Question Nos. 7 to
10 and 14 to 16 in 40 to SO words.

(v) Internal choice is available in Question Nos.
11, 17 and 18.

AT - 3
PART - A
(STt HeEATE U EEEt @)

(Not for Profit Organizations & Partnership Accounts)

1. “AEEEE gob B PR (AR RA) B a0 oL
Explain Payment of Honorarium.
4308/(Set : B) P.T.O.
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2. F UH a9k B H TGN & Thar & 7 U

it 1
Is a minor be partner of partnership firm ?
Explain.

3. ‘W IN T wHEHHA2: 1D AU & Ar-ail ared
g@m%wﬁwﬁ‘a’ﬁ%m%mw
IECEECEIE|
T AN YU ST i 1

'A' and 'B' are partners in a firm sharing profits
and losses in the ratio of 2 : 1. They admit 'C' as

new partner for éth share in profits.

Calculate new sharing profit ratio.

4. ‘IMETT A A -GG B 7 1

Write the meaning of 'Drawings'.

5. B8 § UF T RGN HY SET S bl & ° 1

How can a new partner be admitted in a firm ?

6. TG @A 9 TR @A | &3 0F A w1

Write one difference between Realization
Accounts and Revaluation Accounts.

4308/(Set : B)
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7. 9 o 9 e @d | 31 REWR, 2017 @ qEE

99 1 -2 Tl AR AT 4
e 7 E 7
Y R &R T | 13,000 | fERmE (11 7N @ ) | 8,800
Tl (a8 2018 & S 120
500 ) | 29,000 | I 13,200
ASllaT TRl ok | 1,250 | R 3,000
R W =™ Y AR | ST 19,530
(7% W XA B a | 1,400
#)
44,650 44,650
31-12-2016  31-12-2017
(i) FeBTET T 1,500 3 2,400 %
VI & Wieh 250 % 700 %

(if) ST 1 STCER, 2017 & OF 99 & foQ f&r Tm
Prepare Income and Expenditure Account for the
year -ended ~31st December, 2017 from the
following Receipts and Payments Account :

Receipts 4 Payments ¢
To Balance B/d 13,000 | By Rent (paid for

To Subscriptions 11 months) 8,800

(including year By Insurance 120

2018 % 500) 29,000 | By Salaries 13,200

To Life time By Stationery 3,000
membership Fee 1,250

To Interest on By Balance C/d 19,530

Investment (7% p.a.

for full year) 1,400

44,650 44,650

4308/(Set : B) P.T.O.
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Additional informations :
31-12-2016 31-12-2017
(i) O/s subscription % 1,500 % 2,400
Stock of Stationery T 250 T700

(ii) Insurance paid on 1st October, 2017 to run

for one year.

8. O, AN T WHWH H2:3:5% AU §
BN dfed §U WEER o S @R o A
2,00,000 %; 4,00,000 %; &R 8,00,000 % i I
2017 & Tt W &AW 10% afis X H T 12%
qIieh & & T

TS AN SN 3 S5 oTAgd guEee  fafe
El'ﬁ'i‘;rlql 4

'A', 'B' and 'C' are partners in a firm sharing
profits and losses in the ratio of 2 : 3 : 5. Their
fixed capitals were ¥ 2,00,000; % 4,00,000 and X
8,00,000 respectively. Interest on capital for the
year 2017 was credited to them @ 12% per

annum instead of 10% p.a.

Pass necessary Adjustment Entry after

showing necessary adjustment.

4308/(Set : B)
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9. ‘TR IR ‘AR’ TH ®H § 3 : 2 % IAYIA H wA-&I
Sfed §T GRER &1 S8 S’ H BH § AT f[Em T
AH-BI STU FAT: 2 : 1: 1 B8R M ‘SIS’ o1 foed &l
i 25,000 ¥ e A

S % Waw & @HE @ 12,500 T HH R
gl | fEE E 3
T P GRIH H SavaE SHa Sfaftedr S 4
'X' and 'Y' are partners in a firm sharing profits
& losses in the ratio of 3 : 2. They admitted 'Z' as
a new partner and new profit sharing ratio will
be 2 :1: 1. 'Z brought ¥ 25,000 for his share of
goodwill (premium) in cash.

Goodwill already appeared in the books of
the firm at ¥ 12,500 at the time of 'Z's
admission.

Pass necessary Journal Entries in the
books of the firm.

10. ©F ®H H S’ &Y M 3 : 2 % UM H HEER o
31 TR, 2017 F ITA BH P THAGT B B FOA
fopa, S| a9 Rafy 39 uaR © ¢
gl @Rl gEhEn 20,000 3 AR @
5,000 % 3R &S 6,000 1 Telt HAM: 18,400 3 &R
10,600 % 2|

=l FEfEl | agat 41,800 3 A AR) dErEr
¥ 4,600 T H T AR 5% HA A1 W FEHd & T
IO 2 400 X 4l

Il el SR 4
4308/(Set : B) P.T.O.
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‘D' and 'R' are partners in a firm in the ratio of
3 : 2. They decided to dissolve their firm on 31st
December, 2017. The position is follows :

Assets : Fixed Assets ¥ 20,000; Current Assets
¥5,000 and Cash in hand ¥ 6000. Capital
¥ 18,400 and X 10,600 respectively.

Fixed Assets realized ¥ 41,800; Current Assets
¥4,600. Creditors agreed to accept 5% Less.
Expenses of winding up ¥ 400.

Prepare Realisation Account.

11. 1 S9ad, 2018 & ‘TR, ‘9R’ SR S @ fgl, S
fp el Bl ool Tolt oTUr # afed ¥, 39 UK R
FRENIT 7 T 4

fafae aMeR 10,000 | ¥ AT 8,000
T T4 1,000 | fafae I_R 7,500

GIE e ERCIN| 7,500 | HERT=-8T™ISM — 500 | 7,000

goil - ‘T 22,500 | @i 17,500

‘qrg’ 15,000 | fafmmT 6,000

e 7,500 | T TRt 25,000

63,500 63,500

SR foafy @ S’ Fefofad adf W SEwr T8
HAT ©

(i) T g @ ged 10% A fhar S

(i) Faf=ET &1 geaiw 5,000 } W BT S

(ili) T ITERX oW

4308/(Set : B)
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(iv) ®H & @A H q—iHT 4,500 ¥ W T S
YR @], HEERl & Sl @ e Sented
frger TaR #ifTm 8

The following is the Balance Sheet of 'X', 'Y' and

'Z' on 1st January, 2018, distributed the profit
in capital ratio :

Liabilities 4 Assets 4
Sundry Creditors 10,000 | Bank Balance 8,000
O/S Expenses 1,000 | Sundry Debtors 7,500

Profit & Loss A/c 7,500 | Less : Provision (=) 500 7,000

Capital : Stock 17,500
X' 22,500 | Investment 6,000
Y' 15,000 | Fixed Assets 25,000
'z 7,500
63,500 63,500

'Z' retires on the above date on the following
conditions :

(i) Fixed Assets be reduced by 10%.

(i) Investment are revalued at ¥ 5,000.

(iii) Debtors were all good.

(iv) Goodwill of the firm be valued at X 4,500.

Prepare Revaluation Account, Partners'
Capital A/c and Revised Balance Sheet.

4308/(Set : B) P.T.O.
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YT

OR
U GERER & YA & 99 AN @ (W) @
A fhe TR BT 7 8

Explain the accounting treatment of goodwill
(premium) at the time of admission of a New
Partner.

qT - 9
PART - B
(ot @a e ol fFaRet @ s

(Company Accounts & Analysis of Financial Statements)

12,

13.

14,

oty fereent & fascoer 1 18 @ dmn i 1

Write any two limitations of Financial Statement
Analysis.

it faeem & faseioe & g & oo ferau 1

Write any two tools of Financial Statement
Analysis.

=T el @ Vi afled STUIE S i 4
() % =R 3,75,000%,

(i) 9RF¥H €iw 25,000 %,

(ili) orf<™ €f% 35,000 %,

(iv) Hebel S UM bl T 20% il &X

4308/(Set : B)
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Find the inventory turnover ratio from the
following informations :
(i) Total Sales ¥ 3,75,000;
(i) Opening Inventory X 25,000;
(iii) Closing Inventory ¥ 35,000;
(iv) Gross Profit @ 20% on sales.

15. =T germ @ Fase Bearett 8 g Uhs Jame @i
O HITT 4

31-12-2016 31-12-2017

7390 (W.D.V.)
JUiiad g9 | 3,00,000% | 3,75,000 %

(i) 50,000 % FH AFE H ALY, FER THHFT 59
15,000 % &, 30,000 % & = T4

(i) F9.2017F FMTA 9X.25,000 T BE FEAT T |

Calculate Net Cash Flow from investing activities
from the following information :

31-12-2016 31-12-2017

Machinery (W.D.V.) | %3,00,000| % 3,75,000

Additional informations :

(i) Machinery Costing ¥ 50,000 on which
¥15,000 accumulated depreciation was
sold ¥ 30,000.

(ii) Depreciation charged on machinery for the
year 2017 % 25,000.

4308/(Set : B) P.T.O.
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16. e YaE faawe & $ig v §mn i 4

Write any four limitations of Cash Flow

Statement.

17. {9 s 3 100 % 9 3,000 GHAT AT THIEI T
Frif fbm g TR &1 I 39 9K B

SMAST X 30 ¥; ofeesd 9X 30 3, @O W9 q
JAfH AT T) 40 R

T S, BE® 9™ 200 Sy &, I R M@
TIAE Tl 6 Ias sl & = & form T SR
50 % 9 Sisr qUied G fim @ T

FH B qETR ST ST Hfaftedt it 8

Ram Limited makes an issue of 3,000 equity
shares of ¥ 100 each at par. The net amount is

payable as follows :

On Application ¥ 30; On Allotment ¥ 30,
and First & Final call ¥ 40.

A shareholder holding 200 shares did not
pay call money. His shares were forfeited and re-

issued at ¥ 50 per share fully paid up.

Pass necessary Journal Entries in the books of

company.

4308/(Set : B)
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HAYAT
OR

A F BT @ AN F GEEA & ¢ A B BT H
ﬁwaﬁﬁaﬁﬁnwaﬁsﬁ%wzﬁaﬁaqﬁ@ﬁ
| 8

What do you mean by forfeiture of shares ?
Explain the procedure of forfeiture of shares and
give journal entries of forfeiture of shares.

18. = awmell § # @ gawl ¥, 3,800, 7% FOIGH
100 % Al & fawfied i oTasas® S Hfaftedr $Hiog : 8

() OIS H WeH FHEE T, 100 % a1 T 10%
FOE H uREed #R B TN T RO 5%
et ) it e T

(i) T H MET 5% WEEW W 100 T 9@ 8%
qaifeep- Siell H URede. H%h. [ 72 gaifer
9 T W G-

Pass necessary Journal Entries in the books of a
company in the following cases for redemption of
3,800, 7% Debentures of ¥ 100 each :

(i) Debentures redeemed at par by conversion
into 10% New Debentures of ¥ 100 each
issued at discount of 5%.

(iij Debenture redeemed at a premium of 5%
by conversion into 8% preference shares of
% 100 each at par.

4308/(Set : B) P.T.O.
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13.

(14) 4308/(Set : B)
RG]
OR
et @t ere &IfvTe 8
(31) RoTGEl @ QS Qe qRm
(@) o= B oA d G S
Discuss the following :

(a) Redemption of debentures out of capital,

and
(b) Redemption of debentures out of profits.

{1 -9
PART - C

(e in)

(Computerized Accounting)

FGHA AHT § AT FA T © 7 1

What do you mean by Computerized Accounting ?

TN Ufafte & e St 1

Describe Adjusting Entry.

4308/(Set : B)



14.

15.

16.

17.

(15) 4308/(Set : B)
3T AR T & YRl & g i) 4

Explain the types of Data Processing System.

FYUGA qGHT T § A T AT § ¢ 3D
P 7 9 AR 4

What do you mean by Computerized Accounting
System ? Give any three advantages of such

Accounting System.

ey TS Ol & T SYAT & 7 4

What are the uses of Database Management

System ?

Qﬁwwfr%?r@qiﬁﬁrﬁwmﬁ%ﬁﬁﬁr
T T qUA IS

Describe various steps in - the design - view
method to create a query to MS-Access.

YT

OR
A ;&1 2 ? = RO 99 & A= qlet &1 avi=
i) 8

What is Report ? Describe various methods of
creating a report.

4308/(Set : B) P.T.O.
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18. BEfic A2 ? Qesfic s (Grid) A AR R ? 8

What is Spreadsheet ? How is grid different from
spreadsheet ?

AYAT

OR
Gedfic & FYEA qU dAforba HAI AR W
HifeTC| 8

Clarify the difference between computational
and logical functions of spreadsheet.

4308/(Set : B)
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o FTT-gikTEr # &5 7 Gl o/ 91 T Sig)

Don’t leave blank page/pages in your answer-book.

o FTT-gRaE F SaRF FE o dfe T Al o
STEPTEAGEr & i@ v frar gav 7 @12
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Write to the point and do not strike the written
answer.

o GRS ST T To FIT-UF ¢ 79T [r@)
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» U §97] F GV &7 @ §7 98 GrREd &Y o [F Je7-0E
g7 q @& & YO % Iy 34 FE § #HE A @
&I T [T TEm

Before answering the question, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

T[98 -
(i) T& F97-9F T 9 F i & -
9T — & : STTTHE] T 0T TEaTe @Il
T - § : B GI7 §F [T QR ET ey
9T - & : BLIHT AGH)

(i) T - 7 Sffard &1 qErE o7y seBT & 4T - §
T T - T 7 T FE F T ET F

(iii) TH F97 BT BN 81 HAF HIT B HF GGD WHT
TR T 8
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(iv) F97 @@ 1@ 6 d 12 @7 13 % 7 15 & 20
=t 7 fod qor 597 ger 7 @ 10 714 @ 16
H TV 40 @50 g7 F fg)

(v) 797 G&gr 11, 17 77 18 ¥ off<ii% 8¢ FYoree]
&1
General Instructions :
(i) This question paper is divided into three
Parts :
Part - A : Not for Profit Organizations &
Partnership Accounts.

Part - B : Company Accounts & Analysis of
Financial Statements.
Part — C : Computerized Accounting.

(ii) Part — A is compulsory. Candidates have
to attempt any one part from Part — B and
Part - C of their choice.

(iii) All questions are to be attempted. Marks of
each question are indicated against it.

(iv) Give answer Question Nos. 1 to 6 and 12 &
13 in 15 to 20 words and Question Nos. 7 to
10 and 14 to 16 in 40 to SO words.

(v) Internal choice is available in Question Nos.
11, 17 and 18.

T - A
PART - A
(STt HeEATE U EEEt @)
(Not for Profit Organizations & Partnership Accounts)
1. MR EF H a9 B 1

Explain General Donation.
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2. @ Gt g oREcHsia O § 8 gg o a1

Give any one difference between fixed capital
and fluctuating capital.

3. O, ¥ AW 5:3:2 % ANYUA 7 Aw-gIT dred
W TF FH F AEER 2 S T H B F yag
T 9-8IN ST A 3 : 2 : 2 : 3 B
[CINECRRINEEIS] By 1
'A', 'B' and 'C' are partners in a firm sharing
profits & losses in the ratio of 5 : 3 : 2. They

admit 'D' in firm. The new profit sharing ratio of
partnersis 3 : 2 :2: 3.

Calculate sacrificing ratio.

4. NG H qeAieT B bl & o o 1

Write two methods of valuation of goodwill.

5. e @ RRaf@ & av-Hivm fE-w aEe §
HERR H W G § afaed & S Bl 1

List any two circumstances under which the
fixed capital of partners may change in
partnership.

6. UERERI H THNT 9 ®H » GO § HE g AWK
fetfem 1

Give any one difference between dissolution of
partnership and dissolution of firm.
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7. W Wi 9 A @d @ 31 7, 2018 & EHe 9y
H A2 Tl AR BT 4
i 7 kil z
AT AR AT T 39,000 | & (10 WM @
féam @) | 30,000
o=l 87,000 | aa 36,000
fafam | = 4,200 | RIY 15,000
9 & o = 5,000 | Y ST & SR T | 54,200
1,35,200 1,35,200

@)
(i)

31-03-2018 & IHAT T4 1,800 T |
31-03-2018 & ABM F=_T 10,000 T |

(ii) 31 A, 2017 H LA & ©Ed 7,500 T o
3R 31 TR, 2018 & 14,000 T M|

Prepare Income and Expenditure A/c for the
year ended 31st March; 2018 from the following
Receipts and Payments Account :

Receipts 4 Payments 4
To Balance B/d 39,000 | By Rent (for 10

months paid) 30,000

To Subscriptions 87,000 | By Salaries 36,000

To Interest on By Stationery 15,000
Investment 4,200

To Donation for By Balance C/d 54,200
building 5,000

1,35,200 1,35,200
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Additional informations :
(i) O/S Expenses on 31-03-2018 is ¥ 1,800.

(ii) Subscription received in advance on
31-03-2018 were ¥ 10,000.

(iii) Stock of stationery on 31st March, 2017
was ¥ 7,500 and on 31st March, 2018 was
% 14,000.

8. TR & wh B & 3: 2 F oTuM | Ar-aIiv dfed
HRRR ¥ S ESit BT 50,000 T FAM 25,000 3
| W% WEER AT St W 10% @ 9N H
AR B T AW F F IR W S geM § U9E
dfed HE Ao FHH FCH W G d AN B 10%
FHE TN FH ARER B A o H A IR |
T G FHIIE g b USE F A H 8% HHISH
I AR 21 a9 H A Yol | AN I § @
37,500 % &

1 e M R | 2 S G B R | AR 4

‘A'-and 'B" are partners in a firm sharing profits
and losses in the ratio of 3 @ 2 with a capital of
¥50,000 and % 25,000 respectively. Each
partner is entitled to 10% interest on his capital.
'A' is entitled a commission of 10% on net profit
remaining after deducting interest on capital but
before charging any commission. 'B' is entitled a
commission of 8% of net profit remaining after
deducting interest on capital and after charging
all commissions. The profit for the year prior to
calculation of interest on capital was ¥ 37,500.

Prepare Profit and Loss Appropriation
Account.
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9. O, ¥, WA T AN H 2 : 2:1: 173
U # Sfed g B H GEER 2 S wiaw #
AE-BN H 3 : 3 : 2 : 2 & g & ol feam z@
JEee & [T @Afd H qedid= 12,000 I f6ar T@n 39
99 ®H & JEH § 8,000 3 H UH HEF A A

IUYF EHEN % U BH S g § etaws
st fafeedr i 4

'‘A', 'B', 'C' and 'D' are partners in a firm sharing
profits and losses in the ratio of 2 : 2 : 1 : 1.
They decided to share future profits and losses
in the ratio of 3 : 3 : 2 : 2. For this purpose
goodwill of the firm was valued at ¥ 12,000.
There was also a reserve of ¥ 8,000 in the books
of the firm.

Pass necessary Journal Entries for the
above arrangement in the books of firm.

10. o7, ‘T AT W 2 : 2 : 1 % A § -2 areq
B0 UE BH H GEER 81 1 oW, 2018 & ®H @ fE
39 IR ¢

FeRanIT ¢ | gmRar ¢
fafae TR 3,600 | ¥ 3,600
= g9 1,500 | 3&IX 2,400
ol wih 1,800

‘T 4,500 e 600

q 3,600 REE] 6,600

q’ 1,800 | 9,900

15,000 15,000
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S fofr ® w1 & fEed @ B @W wwReEl @
11,400 ¥ % agl g8 8l & & 3,300 T A
faerT gam 900 ¥ oA foem gam @@ 81 240

TN T B
G T AR it 4

‘A', 'B' and 'C' are partners in a firm sharing
profits and losses in the ratio of 2 : 2 : 1. The
Balance Sheet of the firm as on April 1st, 2018
was follows :

Liabilities 4 Assets 4
Sundry Creditors 3,600 | Bank 3,600
Gen. Reserve 1,500 | Debtors 2,400
Capital : Stock 1,800

‘A" 4,500 Furniture 600
'‘B'" 3,600 Building 6,600
'Cc' 1,800 9,900

15,000 15,000

The firm was dissolved on the above date. All
assets realized for ¥ 11,400; Creditors were paid
% 3,300 in full settlement. Unrecorded liabilities
¥ 900 and Realisation Expenses X 240.

Prepare Realisation Account.

11, ‘T MM T HHE AT 5:3 3

A § @ afed gu

HIEER Bl 31 REwR, 2017 % I e 36 5 E -

TR 4 T 4
Tl EEE 20,000
e’ 15,000 i 10,000
‘9 10,000 | 25,000 | ITER 15,000
e 7,500 | o o= 5,000
¥ arfarformd 21,250 | U%s 3,750

53,750 53,750
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‘H’aﬁgﬂw%mtﬁﬁﬁuﬁﬂﬁmwwazo,ooo

I PN H ' F g 2,000 3 EACG B MW F w0 A
R S AT @ | AT H P 10% HEN Gl aER
T 5% i & § FEPH 91 W geqd gl

JTFT @, GEER & O @] ofR BH
SRIBEF] HifetT 8
'A' and 'B' are partners in a firm sharing profits

in the ratio of 5 : 3. The Balance Sheet of the
firm on 31st December, 2017 was as follows :

Liabilities 4 Assets 4
Capital : Building 20,000
‘A" 15,000 Stock 10,000
‘B' 10,000 | 25,000 | Debtors 15,000
Sundry Creditors 7,500 | B/R 5,000
Bank Overdraft 21,250 | Cash in hand 3,750
53,750 53,750

'C' now joins them on condition that he will

share %th of the future profits. He introduced

¥ 20,000 by way of capital and further ¥ 2,000
by way of premium for goodwill. 'A" and 'B' agree
to depreciate building by 10% and to raise a
reserve against sundry debtors @ 5%.

You are required to prepare Revaluation
Account, Partners' Capital Accounts and New
Balance Sheet of firm.
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YT
OR
(31) el OERR & BH 7 Ha9 & W TuREl iR
el & T gl i o S § 7 4
(1) w @@l i & U WEER 3 WY B @
Al g AR ® g e e W) e
Rerferdt & a/m wfaftedt &t s & 1+1+2
(i) <R & I 989 T,
(i) @REN B T B BN T
(i) JTHHHT @A H 9 IqT BN BN W
(@) On the admission of a partner, why are
assets and liabilities revalued ?

(b) What Journal Entries passed in the
following situations at the time of
admission of a partner when assets and
liabilities re-valued :

(i) Increasein the value of Liabilities,
(ii) - Decrease in the value of Assets,
(iii) = Profit or Loss on Revaluation Account.

1 -9
PART - B
(et @a e o fFaRet @ s
(Company Accounts & Analysis of Financial Statements)
12. g @Rt § o @ g9s © ? 1

What do you mean by Financial Statement ?

13. forig faxen & faeqwer &1 g & 3g99 fofan 1

Explain any two purposes of Analysis of
Financial Statements.

4308/(Set : C)



14.

15.

(11) 4308/(Set : C)

=T gerTel | = STgu 9 e g S B ¢ 4

W 1,40,000 %; IT&R 80,000 %; UHE 25,000 %;
e 1,10,000 % AR 3 BRI ¥ 12,500 |

From the following information, calculate
current ratio and quick ratio :
Inventory ¥ 1,40,000; Debtors ¥ 80,000; Cash in
hand ¥ 25,000; Creditors ¥ 1,10,000 and other
short-term liabilities ¥ 12,500.

T fie fafee e SFerd oM &l ®

1-4-2017
3

31-3-2018
g

ENIER]

50,000

60,000

SESE G

15,000

25,000

94 & XM U AL Fore g

25,000 T o AR oE

T GRIG &9 15,000 % B, & 13,000 % & S=1 T4

Sqgerd e § et fhamehardl | s Jare &

qRe eIl 4
Well Print Limited provides the following
information :
1-4-2017 31-3-2018
4 4
Machinery 50,000 60,000
Accumulated Depreciation 15,000 25,000

4308/(Set : C)

During the year, a machine costing ¥ 25,000 and
accumulated depreciation on it was ¥ 15,000
was sold for ¥ 13,000.

From the above information, calculate Cash
Flows from investing activities.
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16. s YaE fqaxor & el 7¢ Se9dl &l UM die 4

Mention any four objectives of Cash Flow
Statement.

17. ‘FoT fdffde’ 9 100 X Sed% % 10,000 el & 10 7
gy e ey W R few i 39 s 3 R

AT W 30 ¥; AT W 50 X (S |fea);
g g AR G WA

g ofell W eREE oa gem FE @l 3
TR, 120 St 9 e oY 91 TR & Sffaied urd
BN 3T AWM B T B frEr T SR 90 % TOE B

qote Sielt & g fear

T B QR HoTEE A faftedt
T 8

'Krishna Ltd.' offers 10,000 share of ¥ 100 each
at a premium of ¥ 10 per share to the public.
The amount is payable as follows :

On Application ¥ 30; On Allotment ¥ 50
(including premium) and rest of on First & Final
Call.

All share are subscribed. Company received
all money except allotment and First & Final call
money on 120 shares. These shares are forfeited
and re-issued as fully paid up at ¥ 90 each.

Pass necessary Journal Entries in the
books of the company.
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S|

OR
=1 o e feaelt fafaw
(31) oTfetiEM| 4
(@) ofst @ hfem W el 4

Write short notes on :
(a) Over subscription.
(b) Issue of share at premium.

18. ‘i [’ @ J&ihl H 1 e, 2017 & = QW
TERid 9

4
10% RO U : 4,50,000
it wvs : 3,37,500

R ®ve fafanT (sifed T) : 3,82,500

fffat o = 30 fgaw=e g 31 9™ @ 8%
e & SMER U I e e 2B

gfaas 31 A @l T U8 § 75,000 T @ SAEH
fepam e R

31 HrE, 2018 H FGH H PFAM a7 & T
F 3 RifeT ®wve [T B 90% W SEET FOrEl
H M B RAm @ R J6 F 99 1,62,000 2
(fafealt =t oifs & gd) em

d fAfee’ @ g 7 TEsd® @ A il 8
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The following balance appeared in the books of
'B Ltd.' on 1st October, 2017 :

3
10% Debentures : 4,50,000
Sinking Fund A/c : 3,37,500

Sinking Fund Investment A/c
(Face Value) : 3,82,500

Interest on investment received on 30th
September and March 31st 8% per annum.

Annual contribution to sinking fund was
¥ 75,000 made on 31st March each year.

Debentures fell due for payment on March
31st, 2018. The company carried out the
redemption by the sale of Sinking Fund
Investment at 90%. On that date balance of
bank stood-at ¥ 1,62,000 (before interest on
investment has received).

Prepare necessary Ledger Accounts in the
books of 'B Ltd.'

e

OR
“d IR ¥ RO B HI7 N ORIET & G B
Wb & av i 8

Describe the method of debentures redemption
by "purchase of debentures from open market."
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AT -9
PART - C
(Fgelpa qEis)

(Computerized Accounting)

Qe JHERTOT Tl o 3898 HHEEU 1
Mention the purpose of Transaction Processing
System.

FYNGA ACHT B Bls G AELTHRAT Ay 1

Write any one need of Computerized Accounting.

‘Repifverra BT &§ o9 1 a9 § 7 4

What do you mean by 'referential integrity' ?

FY(Pd qCiFT H AN BN AW AR EEw
SRS T AU abiieTg 4

What are various operating procedures used in

Computerized Accounting ?

T TE-THE & Bls g7 o (FHHwe) [ 4

Give any four components of MS-Access.
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17. THRY ey ¥ Rod oz #3 & omaR saswy 8

18.

Explain the basis of designing report in Access
Database.

YT
OR
‘G M & AT @ @1 auie FHifT 8

Explain the different methods of preparing
'Form'.

gesiic 71 8 ? 36 FAI B AU i 8
What is Spreadsheet ? Give its functions.

HYql

OR

s § 0% HidH, A 9 959 B S g 8™ H
qishaT T a° it 8

Explain the process of inserting and deleting a
column, rows and cells in spreadsheet.
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